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= Teaching Methodology
. 11) Remedial we
\ 6) Answer in 30-40 words

/ j / 7) Answer in 100-150 words

Reading writing  Speaking 8) Answer in 100-150 words

. e 13) PAT.
)islieps v vad 4)Group Activity 9) Correction work assessm
st of the 1) Spin-a-yarn X/
sson 2) Debate : :
) Remdting 10) Recapitulation 14) Half Yearl
assessment
btable work of .
riter/Poet Sight i
words

Word meanings 10) Weekly test 15) Yearly
Vocabulary words assessment
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: Finally things
Packing packed
ne George and Harry upset

yok pride in

)ackjng

“_ Every thing. Montmorency
Addede to the confusion,sat

on thin%s to be packed
s decided to go Harris packed strawberry
y / Jam on top of tomato, squashed it

were
ssed because
1e would pack

George and Harry
FindéT cups broken

g He packed but was He started Pronunciation & HSentences
ne intended to informed that he searching for ,érgue ];:V?ntué:i y
forgot his boots ooth brush urse Fl‘ltat'e .
over them e Intended Hilarious
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A Section Reading skills
B Section  Writing with grammar
C Section  Literature TB & Extended Reading

Section A Reading

Q1 : A factual passage 300-350 words

Q2 :A discursive passage 350-400 words with 4 short

answer type to test vocabulary.

Section B Writing and Grammar

Q3 : Writig an article/ descriptive paragraph( person
place event /diary entry) in about 100-150 words

Q4: Writing a short story based on given outline

Qs : Gap filling with one or two words to test preposition,
articles, conjunctions and tenses

Q6 : Editing / Omission

Q7 : Sentence reordering / sentence transformation
in context

~ PAPER STYLE

20 Marks
30 Marks
30 Marks

20 Marks
8 Marks
12 marks

30 marks

8 Marks
10 Marks
4 Marks

4 Marks
4 marks



Pa Pper st‘;l <

Section C 30 Marks
Q8 : One out of two extract from prose/ poetry/ play . Four very 4 Marks
10 Marks

short answer gs
Qo: Five short answer type gs. From Beehive and Moments ( 3 from

Beehive 2 from moments) 30-40 words.
Q 10: One out of 2 long answer type gs from Beehive to assess creativity , 8 Marks

imagination beyond the text book (100 - 150 words)
Qu1: One out of two long answer gs . From Moments on theme or plot 8 Marks
interpretation beyond the text or character sketch
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: CHAPTER 14
STATISTICS
What is in this chapter?
ntroduction
Collection of data

Presentation of data
seographical representation
Measures of control tendency



1e three measure of central tendency for ungrouped data are:

ean : Itis found by adding all the value of the observations and
viding it by the total number of observation .

Mean= Sum of observation/Number of
)servation
edian : It is the value of middle most observations

lode :The mode is the most frequency occurring observation.



CHAPTER 8
QUADRILATERAL
What is in this chapter?
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n of the angles of a quadrilateral is 360°.
diagonal of a parallelogram divides it into two congruent triangle.

parallelogram (i)opposite sides are equal (ii) opposite angle are equal
(iii)diagonals bisect each other
quadrilateral is a parallelogram , if
(i) opposite sides are equal (ii) opposite angle are equal
(iii)diagonals bisect each other

gonal of a rectangle bisect each other and equal and vice- versa.
gonal of a rhombus bisect each other at right angle and vice- versa.
gonal of a square bisect each other at right angle and are equal vice- versa.

> line segment joining the mid point of any two sides of a triangle is parallel to the third side ¢
Uf of it.



er 7 Biological Diversity

Diversity In Animals Sggevaeeinr

Issues in Scientific naming T rwara
Animalia '
Major Groups of Animals

ter 13

)  Why Do we Fall 1l
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Classification as per body design

) Porifera  Eg. Sycon
) Coelenterata Hydra
) Platyhelmenthese
Planaria
) Nematoda Ascaris
) Annelida Leech
) Arthripoda Octopus
) Mollusca Pila

8) Echinodermata Antedon

9) Protochordata Balanoglossus
10) Vertebrata
1) Pisces

2) Amphibia
3) Reptilia
4) Aves

5) Mammalia

Angler Fish
Hyla, Toad
Turtle, Salaman:

Sparrow , Pigec
Cat, Bat, Huma



Methods

Terms

Experimentation

Inductive

2 marks
3Marks
5 Marks Qs

Reinforcement

~oncept comprehension Objective

Subjective

Concepts
& working Logical thinking

Explanation
P Performance of

activities

of diagrams




- Teaching Aids
Flash cards

Palamnaeus &
(Scorpion) ===

. (House fliy) . -
colopendra Pila

Centipede)

cetmbrunloeran

fee) Livreriflockce ) Bretterifiy o) s terices sfour



= TeaChing Ald L 13 Why DO We Fall Ill

Direct
ontac

Small droplets S
evaporate to droplet Ven't}lationf
nuclei in this zone ., Droplef‘nucleﬂ e
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Youtube videos

1ttps://www.youtube.com/watch?v=nmWtyFfzEyo

1ttps://www.youtube.com/watch?v=uvOIlAqgr-Fbk

1ttps://www.youtube.com/watch?v=GrosrKdsmvA




Science Paper style
GENERAL INSTRUCTIONS

'he question paper comprises of five sections
\,B,C,D and E

\ll question are compulsory

nternal choice is given in Sections B, C,D and E

ec.A Q no1and 2 in this section are 1 mark each.

). No 3-5 in Section B are 2 marks each to be answered in 30 words

). No 6-15 in section C are 3 marks each. They are to be answered in 50 words.
). No 16- 21 in Section D are 5 marks each .they are to be answered in 70 word

). No 22-27 in Section E are based on practical skills . Each questions is of 2
narks each



xperiment To study Morphological ~ Character

Demonstration of Morphological Characters
a) Earthworm (b) Starfish
[0 record observations and draw their labelled diagrams




CHAPTER -

TRIANGLES
What is in this chapter?

Introduction

Congreuence of triangle

Criteria for congreunce triangle
Properties for congreunce triangle

Inequalities in triangle
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Gravitation
Forces in the Universe

Gravity

Electromagnetism
Magnetism
Electrostatic forces
Weak Nuclear Force
Strong Nuclear Force
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Decay of t
Neutron

electron
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GRAVITY keeps the moon orbiting

Earth...and Dactyl orbiting Ida. ..
olds stars
ether...

- ‘,_.:.’-'-""'"

Prevents

planets

om losing
their

ospheres. ..
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ling objects accelerate at a
stant rate (Galileo):
Ball

4

Speed is gained at a constant rate:

9.8 m/sec/sec

“Acceleration due to gravity”
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> (sec) ____“Sp_eed-' (m/sec) I e — ===
— =8 Acceleration is same for ALL OBJECTS
3 29.4 regardless of mass!
4 39.2
6 58.8
8 78.4
10 98
120
100 3
80 /y/
Speed (m/sec) | e° /
40
20
0 !
0 2 4 6 8 10 12

Time (sec)
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"« Newton’s 2" l]aw = force (F) is acting on
falling ball (mass = m)
1 :
o All masses have same acceleration
m
... SO more mass means more force
F needed:

F oc m

s = s

Earth



. Newton’s 39 1law = ball pulls on Earth

=p | Does Earth accelerate?
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— Increase one or both masses, and force increases.

— Force decreases as distance increases.

F 4—.M2 \

= d < Force Distan
400 N 10 m

- = 100 N 20 m

400 400 25 N 40 m
. 2 16 N 50 m
4 N 100 m




0 100 200 300 400 500
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— Putting the two parts of the force law together. . .

d? (G = gravitational constant)

o Acts through empty space
“action at a distance”

e Explains how gravity behaves — but not why
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Other planets: M and R change, so your
weight must change

A real planet. ..

Mars: R =o0.53x Earth’s radius
M = o.11 x Earth’s mass

Earth Mars

Weight 150 lbs 59 1bs



WEight —

e Measure of gravitational attraction of Earth
(or any other planet) for you.




pward acceleration

Weight” can be
1ade to apparently
1crease .

Heavier-than-
normal weight |

L E R L A
ECH L L

Mormal weight

elevator stationanrny or elevator accelerating
moving at constant upward
velocity
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. EARTH’S MASS
Earth's mass
your mass
S
GMm
W = >
- R
your weight \

Earth's radius

M = 6 x 10%% kg



HOW TO DO THE PLANET’S =

P GO? s

Jupiter Duask, May 223

ape e Planets apr

‘star-like’
Mars




Dusk, May 23

Dusk, May 31

Podiux o

S Jupiter

*

Dusk, June 3
&0 minutes after sunset

Pl e Castor
- L]

WVernus

Jupiter




Planets resic
near Eclipti




Awvntomnal equinox

Winter solstice

Vernal eq) UINnoOx

Celestial equator




“Alien’s eye view . . .

Venus

&)
Earth d

Mars

Complicated!



Dusk, May 31

Prollux
upiter & Venus
ire currently 2
in”Gemini. - J_L.IpltE.-:

T e

Varus

- M |
l..-.l | i 1




Ancie:
Gree.
geocen,
solas
systel
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CHAPTER-4 STRUCTURE OF THE ATOM

‘lectrons in 1897 showed us that the atom can be split into even smaller parts.
{is discovery was the first step towards a detailed model of the atom .
An atom is a uniform sphere of positive charges (due to presence of protons)
vell as negative charges (due to presence of electrons).

An electron is a negatively charged component of an atom which exists outsi
he nucleus. Each electron carries one unit of negative charge and has a very
mall mass as compared with that of a neutron or proton.

SSSSSSSSSSSSSSSSSSSSSSSSSSSS

Joseph John Thomson
British Physicist and Nobel laureate PLUM —PUDDING MODEL
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\omson used cathode ray tubes to demonstrate that the cathode ray responds t«

' magnetic and electric fields.

the ray was attracted to a positive electric plate placed over the cathode ray tube (beam deflected toward tf
ve plate) he determined that the ray must be composed of negatively charged particles. He called these negz
les "electrons."

tation: Model failed to explain how protons and electrons were arranged in atom

e to each other. :
Eugene Goldstein:

Cuihqf:ie _ Anode

I

. Electric Field
Cathode Rays

Effects of Eleciric Field on Calthode Rays




ey

| rays” which had electrical and magnetic
rties opposite of an electron.

s:
1al rays have positively charged sub-atomic,
es known as protons (p).

ford’s Scattering Experiments:

.
>CIENTIST PROPOSED ATOMIC MODEL

.
arnest Rutherford E d o
Q‘“/
Rutk rfor ~N
Model of thhe Atom
Jobel prize 1908

SCIENTIST

Eugene Goldstein
a German physicist
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Most of the a-particles passed through
the gold foil without getting deflected.
Very few particles were deflected.

Very few particles were deflected.

A very few alpha particles, 1in 100000
completely rebound on hitting the gold

foil.

OBSERVATION

Alpha particle E

INFERENCE

Most of the space inside the atom is
empty.

Positive charge of the atom occupies
very little space.

Nucleus of an atom is very small as
compared to the total size.

of alpha == -
Fralicies = g small bellection

most of the Alpho
rarficies Pass
Stroight




Limitation: In Rutherford’s atomic model , Nucleus

electrons are held together by electrostatic force of - EDEPRIAE ATCRM R

traction which would lead to the fusion between - I i, W

ilem. This does not happen in the atom. ' G( (Q @) x:? |

| e

mass number S b l ¥
atomic number Voo e e s nen

[n 1932, James Chadwick proved that the atomic nucleus contained a neutral particle which had been
roposed more than a decade earlier by Ernest Rutherford officially discovered the neutron in 1932, Chac
ceived the Nobel Prize in 1935.

SCIENTIST PROPOSED ATOMIC MODEL

=

Danish physicist

Niel Bohr Atomic Model:

31P

1 5

-

. __ —Proton
- =
Nucleus @
e

“Meutran

®—Electron




Electronic configuration & Valency:
Bohr and Bury Scheme - Important Rules

S.No Electron Shell 2n, where n = shell number Maximum Capacity
1 K Shell 2x (1) 2 2 electrons
2 L Shell 2x(2) 2 8 electrons
3 M shell 2x(3) 2 18 electrons
4 N shell 2x(4) 2 32 electrons

T'he outermost shell of an atom cannot accommodate more than 8 electrons, even if it has a
capacity to accommodate more electrons. This is a very important rule and is also called the

OCTET RULE. The presence4s of 8 electrons in the outermost shell makes the atom very
stable.
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Atomic Number & Mass Number:

tomic number of an element is defined as the number of unit positive charges on the
Icleus (nuclear charge) of the atom of that element or as the number of protons present in
e nucleus.”

omic number, Z = Number of unit positive charge on the nucleus = Total number of unit positive
arges carried by all protons present in thenucleus. = Number of protons in the nucleus (p) =
Imber of electrons revolving in the orbits (e)

| .- Hydrogen — Atomic number= 1 (1 proton)

lium - Atomic number = 2 (2 protons)

ass humber[ A] : It is defined as the sum of the number of protons & neutrons present in the
cleus of an atom.

1ss Number = Mass of protons + Mass of neutrons

) :- Carbon — Mass number = 12 (6 protons + 6 neutrons) Mass = 12u Aluminium — Mass
Imber = 27 (13 protons + 14 neutrons) Mass = 27



Social science
History, Civics, Geography & Economics
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e POLITICAL SCIENCE— o
troduce a given topic by giving practical example. Use given content to interpret a situation, pro
an example or solve a problem with he help of pictures and diagrams related o the topic.

Faght Raghl o
b Afainst Freedons
. == A
T .

Expigifation ol Raligio

e

- UNDAMERNTAL HIGHTS

MAORTY PSS
RULES ',

Right 1o
Freadom

Alghs 1o

Gonstite- e
lioe=al ==

Remedies




~___—— TEACHING VS

e —

”_,_,_,-f*""’ — = — —— 1
/ ECONOMICS
roduce a given topic by giving practical example. Use given content to interpret a situation, pro

an example or solve a problem with he help of pictures and diagrams related To the topic.

ANS OF TRANSPORT IN
.LAGES

FARMING IN VILLAGES




"EACHING METHOD
GEOGRAPHY
ntroduce a given
opic by giving
yractical example.
Jse given content to

nterpret a situation, G EO RAP H "f O F IN l]

yrovide an example

1 solve a problem $ -11 wr;

vith he help of

yictures and maps 1I;I',--- W ¢
° " *

elated to the topic. W )




= CHAPTER 4
FOREST SOCIETY AND COLONIALISM

WHY DEFORESTATION?

Land to be improved

Sleepers on the track

HE RISE OF COMMERCIAL FORESTRY

'IVITY: If you are the government of India in 1862 what steps would you take to supply railways with
sleepers and fuel on such a large scale?

How were the lives of people affected?
Collecting Mahua from the forests and drying tendu leaves.
How did forest rules affected cultivation?
Burning forest podu plot
Taungya cultivation
Shifting cultivation.
Who could hunt?
People who lived in and near forests.
New trades, New employment and New Services
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REBELLION IN THE FOREST

THE PEOPLE OF BASTAR
\rmy camp in 1910 and
Jastar in 2000
THE FEARS OF PEOPLE
FOREST TRANSFORMAION IN JAVA
The woodcutters in java
Dutch Scientific Forestry
Samin’s Challenge
War and Deforestation
New Developments in forestry:.
[IVITY
ESTIONS
Why are forests affected by wars?
What are the similarities between colonial management of the forests in Bastar
lin Java?

THE END



ECONOMICS "=
o CHAPTER 4
FOOD SECURITY IN INDIA

OVERVIEW

WHAT IS FOOD SECURITY?
WHY FOOD SECURITY AND HOW IS FOOD SECURITY AFFECTED DURING NAURAI

CALAMITY?

PRODUCTION OF RICE IN BENGAL

PRODUCTIO | IMPORTS(LA | EXPORTS TOTAL
N(LAKH | KHTONNES) AVAILABILIT
TONNES) Y
1041 68 02 - 70
1042 93 - o1 92

1043 76 03 - 79



FOOD SECURITY IN INDIA

INDIA IS AIMING AT SELF SUFFICIENCY IN FOODGRAINS SINCE
INDEPENDENCE

WHA IS BUFFER SOCK?

WHAT IS PUBLIC DISTRIBUTION SYSTEM?
VARIOUS SCHEMES

Anyodaya Anna Yojna

Annapurna Scheme

Activity

Questions:

How is food security ensured in India?

Which are the people more prone to food security?

Which states are more food insecure in India?
THE END
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— GEOGRAPHY

CHAPTER 4
CLIMATE

VIEANING OF CLIMATE & WEATHER
CLIMATIC CONTROLS:

ATIUDE, ALTITUDES, PRESSURE AND WIND, DISTANCE FROM HE
EA, OCEAN CURRENTS.

INDIAN TROPICAL CONVERGENCE ZONE
E1 NINO

I'HE SEASONS: Winter, Summer, Monsoon and Retreating
Vionsoon.

DISTRIBUTION OF RAINFALL
MONSOON AS A UNIFYING BOND



ACTIVITY AND QUESTIONS

MULTIPLE CHOICE QUESTIONS FROM EXERCISE.
ANSWER THE FOLLOWING IN BRIEF:
What are the controls affecting the climate in India?

Why does India have a common monsoon type climate?
Answer in detail:
Why does the rainfall decrease from east to the west in Northern India

Seasonal reversal of wind direction takes place over the Indian
subcontinent?

THE END






